7-091 60 17 9
(@]
1.
A
l 10 mm
=* 0 - "o )
10.6p m h=-10mm
PZT N
-2
-2
(mm) h(mm)
381
15,20,28 63.5 + 0,-20,-40,-60,-80,-100,-120
127.0
) 3.
-1 -1
30
Input
’ Output
=h
h=+ Omm
=f h
f 2 COrtpict
NaCl3% .l Input — Ouiput — Loss £ Dot
15 20 28W 1000g . mur vosmE
25 60 ;
B R LA R RhE
30 NacCl 4
-2 -3 20w + 0mm f
f
f
ATy —
| | wmrz -1
T — L= —
[ B 10.6Q m f
_ ‘ B 30W
30 60
= =3
| — ] J
-1
PZT
101-8308 1-8-14 TEL(FAX) 03-3259-0673

-181-



7-091 60 17 9

= =38 1mm( ) =3f=635mm( Y == 1=127.0mm( )
—o—f=38.1mm( ) —A—f=635mm( ) —B—f=127.0mm( )
——f=38.1mm( ) —&—f=635mm( ) —&@—f=127.0mm( )
100
-4 20W h=x0 120mm f g
80
f h=+ Omm
60
40
1
20
0
f 30 _ 60
(min)
h=+ 0  40mm 3 f (20W,h=+ Omm)
f
h= 60mm f S =38 1mm( ) S =63.5mm( ) === f=127.0mm( )
—eo——f=38.1mm( ) ——8— f=63.5mm( ) ——A— f=127.0mm( )
f _3 m— = = f=38.1mm( ) =63.5mm( ) m— = m=f=127.0mm( )
£=38.1mm( ) = = = = f=63.5mm( ) f=127.0mm( )
100 ; 100
f=38.1mm 63.5mm h= S - + IR _1_ l 1. _;
_ 80 —F B S e 80 o~
+ = - &
+ Omm f h /A\ ‘ -
40 h= 60 60 &= % = 60 €
mm = mm
- N g
f 40 40
N il ﬂL 2°
f=127.0mm 0 - 0
0 -20 -40 -60 -80 -100 -120
f (mm)
-4 f (20W,30min )
-5 f=63.5mm
h=+ 0 120mm -3 f (20W,30min )
() T |
h(mm)} f=38 Imm{ =635mm § =127.0mm | £33 | £=63 5mmf f=127.0mm{ £=38.Lmm] =63 5mm | =127.0mm | =38 1mm § £=63.5mm| f=127.0mm
() 0007 | 0049 | 0187 ] 556 655 81 103 | W 419 148 802 809
-20 2005 | 113 | 0727 | 41 573 520 35 | 210 41 836 843 940
-40 10557 | 4143 | 1620 | 633 500 543 671 | %5 306 900 864 940
=60 213 | 8667 | 2867 | 44 559 106 46 ] 3 i) 840 814 21
-80 40552 | 1817 | 4466 | 288 25 510 52 | 46 33 830 80 903
-100 62006 | 22620 | 6419 | 389 87 662 M5 ] B6 37 834 814 899
5 -120 90003 | 32071 ] 8726 | 299 38 183 59 | 484 07 848 823 819
0.008
o 15W
< 20W <©
~ 0.006 [—A28wW
5 7
E ‘ /
E 0.004 7
< <o
1 - o
0.002 o4
-5 Z y = 0.0040 x - 0.0001
A R* = 0.9510
0.000
0.0 05 10 15 2.0
(1/7(W/mm?))
-5
(f=63.5mm)
f
1 = W/mm?2

-182-



